> MASSs ©m excesso, soludds Safvnand,

@A\ 45 2% ga\%(p(yq)

] 42

2o~ Lo FWL&.

&5([)0(4)2 ? 3&;\2* +02P(9q3’

o 2 . 2
lp- o) o 027001

o= (35 (20)?

C,g,}r‘j; 5/5 = 3« 8,5I>OP<Q/5Q Sl R, 69 7"(/5844'\&/(, L'/7

/

{
(P0F]): 27 = axB0xo - 4,}9.7463%@@L"J

Mt 2O gl R o
—_ ' %
71«1«/\9’& 2085 /(‘B/% : E%O”j 2( Poq;—:) \
'7}7 ——"(9\0182 /—\ \’/O{Q’\ ;”‘g’”f/‘\fﬂ;ﬁ
R I Hor = (00 [\ |
Lji £ O//f /»we(/; /%\dzé /l ,Y(}? (O'H“>§g> (Q’x)

(s21: 01+ 34 = Ot 325 (gt )
7]

s o 18 5. i 2
UDOf 1 (gl’x/ﬁ z (;ZX{,Z?MO - 2,(7’6“,043”“"/ /5 1W§ﬁ— b ~
44,0513 > RV RASE



= 2 _ X i ?’LQ.(OLUB = +Q T 8@”7
(Re?] = 40503 it

B o ) Gow]

N TV ]

poir= ~Log, (6,34 45") \
POH. 40,16 “‘ - \rz

Ox1o?

PH= 1q -40t0 . 3,64 \ [:w) = W

Zr \\

e ( v (ow]: 6,8y r;mk—nM.%w(’ L

[

En ?H A0 tode © V@/bFa/’wé\d)o Sftvia S/CCL\@\(/(;&C&O 5

Wlor e pt
Abatxo do /b'H de ‘E?UAA(/{ Ao .
FV\ A sa. P —
3 50 Yy 4 "ﬁvwa@ 40§ ‘
e t’%\(ma\ sl . ?8%10” X2 A3t ncl 4"
0L~ 4,4‘0;@5% W pieal e B0, .
K ——pyoniss 2 AIsx Al B
. | M
£ == et bove 40 87

» o ) ¥ ‘
C‘A_f]: A, d) %10 %ve//‘g s = 4,\?0,“8 ol \

’ 0,25 L AT - (ag) {27 : 5205
[o7). Azed el Jogolmall? —

ort /(Qqu]

Q - % O hilr x ';2,@,\&59

e

Q< B precpe |



(¥ PH =<0 | €
LY . O,//h«,,{/(,"

s = ) m;
éD«TA - O,‘Z,.’V\s(("l O<j\(- \0/02)0 Q:‘f)z)(4o
Losk, v, 4 14,23 L ow - B ok
Okegf 19,33 ~—=> 4o > Kegbz R 1y w,wnf O/ﬁq' } 49‘( x40
.‘l-
O 50 s 2uynas” il

Ry = R

g B

et < . = —
(‘fuz”] Lyu‘]

«2,“{ )a/LO’q 2 : .

(o1-x) %9 xti"g

9\,(1{ )(rtéLr 2 @l

Ny ) — A4 x1o %

6
406 x40 — {,O@;&%ﬁ e O

4,081 = DF & 400 AT X

& R
= -M:Qqﬂw{c—/ ‘/



A s =y /
@ Ba8lly ‘=BFic0, Cobions = B w Ou2F

—

B % i .
2 = & +2& Arions > -Q‘Oqf' = F-
6«:\5001 = G+ gu

Ca"L = @&+ aF

5& P s0, - 4,4)@540 = A - F ” OS S il 77
ey - Ay x'to*b = A= W = &go el 1 l
Cos0, » Glp® = A=A | . L%m
Caf, = howad'! == 4 \hiw

O~ Den~ dx SDWB«V‘OLOO&

s dacylved

L%:;SOH > @—F?, 3 @0‘50“/ \> %FZ

Do:s mer ¢
-
lnsdluvas



